Part# TS450

1980-1997 Ford F-250 / F350 4x4
WKER@ Triple Front Shock Kit

THE BEAR OF SUSPENSIONS

Part# Description Qty. Part# Description Qty.
TS450-UB UPPER TRIPLE SHOCK BKT,F250 2 12CTN 1/2-13 COARSE N/I LOCK NUT 8
TS450-LB LOWER TRIPLE SHOCK BKT,F250 2 12X1012CTBG5 1/2 X 10 1/2 CRS THD BT,GR5 2
38X112CTBG5 3/8 X 1 1/2 CRS THD BLT,GR5 12 12SAEW 1/2 SAE WASHER 4
38CTN 3/8-16 COARSE N/I LOCK NUT 12 GM2A SLEEVE .75X .565X 1.88 2" 4
38SAEW 3/8 SAE WASHER 12 141509 ES25 SLEEVE/403646 1.50" 4
12X3CTB 1/2 X 3 COARSE THREAD BOLT 6 I-TS450 INST. SHEET FOR TS450 1

Installation Instruction:

1.
2.

3.

~N O 00N

Park the vehicle on level ground. Set the emergency brake and block the rear tires.

Place a floor jack under the front axle tube, away from the U-bolts, and raise vehicle. Remove tire
and stock shock.

Unbolt upper shock mount from frame rail. Lay stock upper mount down with backside facing up.
Set new upper mount plate centered on top of shock mount as shown. Mark and drill (4) 3/8”
holes into the stock shock mount. Bolt new upper mount to stock mount using 3/8” bolts supplied.

. Bolt bracket assembly back on to frame rail and drill 2 3/8” holes, approximately up 3/4” and over

3/4” from stock upper bolt. Be sure there is nothing in the way behind the frame rail when drilling.
(gas lines, vacuum lines, brakelines, etc.) Install the (2) 3/8” bolts provided and tighten.

. Remove U-Bolts and insert new lower bracket in between u-bolt plate and leaf spring. Install U-

Bolts. (Do Not Tighten at This Time.)

. Install the 1/2” x 10 1/2 “ through lower bracket by first using a washer, then shock, bracket ear,

spacer, stock shock mount, spacer, bracket ear, shock, washer, and nut.Tighten. Now tighten U-
Bolts to 85-90 Ft. Lbs.

. Use the 1/2” x 2 1/2” hardware provided to install shocks to upper brackets.

. Install tire and tighten.

. Repeat the above steps on the opposite side.

. Once all shocks are installed, check all components for proper clearance. Retorque all hardware

after the first 100 miles and periodically there after.

Seat Belts Save Lives, Please Wear Your Seat Belt

Accessories:

Stainless Steel Brakelines
Steering Stabilizers

Sway Bar Extended Links
U-Bolts

Contact Dealer For Pricing!
I-TS450 2-03






